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FEFHETETAAAQZRX
FRERERAOGIEAZEHZED) {I_'.I\*[H £E7H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 296 365 406 771
AER1TH 1,039 1,207 1,296 2,503
EARI2TH 1,214 1,106 1,438 2,544
A R ET 2,275 2,360 2,604 4,964
BEBRT1TH 521 535 595 1,130
B EET2T H 411 428 483 911
B ERI3TH 317 368 349 717
BEBRT4TH 530 496 539 1,035
B ERSTH 839 926 944 1,870
I ER6TH 364 397 423 820
HiF = HT 530 618 654 1,272
45 KHT 452 522 539 1,061
HHT 1,011 1,147 1,260 2,407
BEHT 60 61 66 127
A K BT 633 747 755 1,502
7 HT 430 446 459 905
RICET 484 533 564 1,097
FORHET 197 210 228 438
RFHT 214 225 251 476
KHET 378 352 403 755
KET1TH 232 260 294 554
XKET3TH 283 329 320 649
XETATH 877 830 1,043 1,873
fit] LLI BT 2,333 2,777 2,885 5,662
JE LT 967 1,123 1,235 2,358
EHERT2TH 208 446 440 886
EHERISTH 424 545 549 1,094
EHERT4TH 356 424 472 896
EHERSTH 326 383 456 839
EAEHET6TH 215 287 263 550
EHERT7TH 162 237 239 476
=Y:i 328 357 401 758
8 [F T 1,572 1,471 1,723 3,194
=i ET 494 539 613 1,152
2l 3t BT 475 622 586 1,208
N =15 97 117 124 241
+HEFRT A 647 655 726 1,381
L EFHTER 851 768 859 1,627
L HAET 2,093 2,341 2,481 4,822
LFH¥ABT1TH 73 122 121 243
LH¥\ET2TH 161 165 189 354




HEZ HH 5 £ i
LFEI3TH 147 152 173 325
L¥AET4 T B 157 165 208 373
LHABTS T B 206 273 289 562
I == HT 216 221 255 476
JOSFET1TH 537 527 571 1,098
Mn=rET2TH 555 555 571 1,126
JO=fET3TH 423 436 412 848
M=rET4T H 1,106 1,130 1,173 2,303
I S5k T 588 609 681 1,290
I=F5di) 230 226 260 486
Jt B BT 30 39 40 79
E[d:) 414 381 380 761
fHZaE T 790 920 991 1,911
FHRHET 76 92 98 190
1 2 FF T 374 438 478 916
BEFE1TH 84 107 114 221
BEFE2TH 272 329 335 664
T EHT 129 151 147 298
/N BB T 3,059 3,190 3,419 6,609
1R T 260 293 310 603
YEZF HT 744 761 806 1,567
EXBI1TH 265 243 278 521
=/ LLIHT 237 176 134 310
Hh ek HT 28 28 5 33
T A EHET 10 12 10 22
THHEE1TH 703 689 741 1,430
THHEE2TH 529 591 569 1,160
THHEESTH 732 730 844 1,574
TEHE1TH 195 197 187 384
TEHRI2TH 809 773 884 1,657
TEHRISTH 163 175 180 355
TEHRI4ATH 79 82 88 170
TEHRISTH 236 246 269 515
T HAET 652 701 730 1,431
TET1TH 353 362 375 737
THET2 T H 449 454 477 931
TH¥BISTH 199 207 241 448
THABTATH 156 154 180 334
HTAEHET 20 19 9 28
T 195 190 199 389
#8)11 BT 44 46 56 102
KT HT 303 324 354 678

e K HT 1,704 1,790 1,944 3,734
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HEZ HH 5 £ i
FSIED 258 321 319 640
XLAT1TH 859 848 1,006 1,854
XLAT2T B 302 337 358 695
X#ILET3TH 153 162 168 330
1 [ BT 49 66 80 146
hHET1TH 342 368 421 789
hHET2TH 451 486 528 1,014
hHBEI3TH 433 517 523 1,040
niEld:) 255 252 292 544
th 2 JEHT 235 226 262 488
ch T 128 135 167 302
FRAHT 747 878 888 1,766
At A ET 878 932 1,062 1,994
75 K ERET 786 1,004 1,035 2,039
75 2 [N HET 1,664 1,867 1,998 3,865
A 795 781 879 1,660
SFHEAT1TH 535 478 549 1,027
SFHEAT2TH 413 394 465 859
$FHEAI3TH 206 226 236 462
| BT 426 484 514 998
YHET1T B 371 469 493 962
HET3T B 352 397 435 832
RET4T B 118 112 142 254
J\ & T 991 1,103 1,163 2,266
J\HHT 168 219 232 451
+ A ERT 274 328 365 693
T A HT 2,404 2,544 2,696 5,240
THB1TH 24 24 22 46
T4HB2TH 1,463 1,405 1,392 2,797
T4HBI3TH 187 178 179 357
THHB4TH 375 316 385 701
T4HHB5TH 947 701 971 1,672
THRI7TH 339 387 430 817
T4HBISTH 379 421 434 855
THRBOTH 387 461 521 982
T4B13TH 298 346 380 726
AR NBHT 1,932 1,721 1,999 3,720
HARRHET 1,313 1,248 1,262 2,510
HEARK/ERET 284 379 392 771
HEARICEHT 161 171 186 357
HARKEHET 136 130 138 268
Z AR hHET 202 234 271 505
N 441 471 503 974
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HEZ HH 5 = 5
H AR EHT 322 362 397 759
HARE)IIET 284 276 305 581
HARE AH 114 127 140 267
FH AR JTHT 93 91 112 203
EARERHE 667 574 654 1,228
B K BRHET 384 408 403 811
Edsa] 883 913 1,029 1,942
BEFET1TH 767 759 774 1,533
BEFET2 T H 596 615 701 1,316
BEFETSTH 346 413 415 828
AIFTET1T B 431 393 454 847
AIFTET2T B 578 607 677 1,284
AIFTET3T B 596 712 736 1,448
A HT 188 215 202 417
B LH 207 274 292 566
NEL] 808 827 902 1,729
ERL 703 905 899 1,804
= HHT 1,705 1,965 2,076 4,041
HEXHRET1TH 564 645 664 1,309
HETIRET2TH 528 629 659 1,288
HLAREISTH 300 391 384 775
fx T 321 382 412 794
mERI1TH 1,171 1,142 1,303 2,445
mERI2TH 839 964 1,072 2,036
FA T 1,333 1413 1,602 3,015
= RITET 526 513 557 1,070
= AHT 355 294 356 650
AR#HT 11 10 5 15
=) 493 586 549 1,135
SHA1TH 716 659 825 1,484
S HHET2TH 400 437 471 908
S HAI3TH 848 771 941 1,712
S HET4TH 783 681 892 1,573
E& T 2 2 0 2
J\IRET1TH 205 273 267 540
J\BRET2T B 250 263 240 503
J\BRET3T H 237 292 292 584
1T HT 292 438 433 871
FHEIBRT1 TH 145 170 178 348
FHaEIRT2TH 296 431 464 895
FIaIET3T B 11 24 16 40
ENDER1TH 0 0 0 0
EDER2TH 0 0 0 0
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